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1) z=-3 (2) =5 3) =7
1) 0.6z —1.8=1.3z+0.3
M2 10 258
(0.6 —1.8)x10=(1.3z+0.3)x 10
6x—18=13z+3
6r — 13z =3+18
—Tz=21
z=-3
2) 29-0.72=0.22—1.6
Iz 10 20T 5L
(29—-0.72)x10=(0.2z — 1.6) x 10
29—Tz=2x—16
—Tz—22=-16—29
—92=—45
z=5
3) 0.02z —0.23=—0.03z +0.12
M2 100 ZnFd L
(0.02z —0.23) X 100 =(—0.03z +0.12) x 100
2x —23=—3r+12
2z +3x=12+23
5x=35
z=7
4) —0.54+1.352 =—1.02+1.27x
A2 100 20T 5 &
(—0.54+1.352) X 100 =(—1.02+1.27x) x 100
—54+1352z=—102+ 1272
1352 — 1272z = —102 4 54
8x=—48

z=—6
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6) z=-3 (7)) z=-2 8 xz=—4 9) z=-7

1) 1.1z +1.8=0.5z
FAIZ10 2T 5 e

(2 0.07—-013z=-0.19
M4z 100 &5 &

(3) z—0.3=08z+1.1
M2 10 T3 &

4 09zx+24=17z
MWiiZ10 2T 5k

6  04r—-05=2-0.1z
FAIZ10 2T 5 e

6) 03r—16=13zx+14
FAIZ10 2T 5 e

(112 4+1.8) X 10=10.5z X 10

112+ 18 =5z

11z — 52z =—18
6r=—18
z=-3

(0.07—0.132) x 100 = —0.19 x 100

7—13z=-19
—13z=-19-7
—13z=—-26
z=2

(x—0.3)x10=(0.82+1.1)x 10
10z —3=8z+11
10z —8z=11+3
2xz=14

z=17

(092 +2.4)x10=1.72 X 10
92 +24=17z
92 —172=—-24
—8r=-24

z=3

(0.42 —0.5) X 10=(2—0.12)x 10
dr —5=20—=z
dr+2x=20+5

S5z =25
z=5

0.3z —1.6) X 10=(1.3z +1.4) X 10

3x—16=13z+14
3r—13r=14+16
—10z =30
z=-3
(7) 02z+1=—z—14
A 10 205 L (022+1)X10=(—2z—1.4)x 10
2x+10=—10x—14
2x+102=—-14—10
122 =—-24
z=—2
8) 0.222z — 0.4 =0.3z — 0.08
FHAIZ 100 22T 5 & (0.222 —0.4) X 100 =(0.3z — 0.08) X 100
22z —40=230x —8
22z —30x = —8+40
—8x=32
z=—4
9) 0.652z —2.1 =1.35z + 2.8
MHAIZ 100 22T 5 & (0.652 —2.1) X 100 =(1.35x + 2.8) X 100
65z — 210 =135z + 280
652 — 1352 = 280 + 210
—70z =490

z=-—17



